20224 2/420| =& - XIEUH 4

& o I
7 e g = 2 o = = 2
HEel HEXIZ,
T STEE 11,302,620 v
me |, HEE
e a2
Sy
NEEL AT & 4,430,000
ABIAIITHE ALY
zzea, Mz,
+80l L 248,
200218 2/427] % 15,732,620 et oy
o| =2
o ol 28I, ot
A2 D3
JlEr2 gy
SIIEECETH
+2I12
2022\ 1/427] 0182 6,743,096
Mag, 853
ICEE
STE
& 27 22,475,716 i 13,165,500
& o 9,310,216%

10
02!

=
=




20224 2/4& 7|

o olR|lo|lolo|lo|lo|lo|lR|lo|lolo|lo|lo|R|lo|lo|lo|lo|o|lolo|o|lRR|lo|o|lo|lo|o|lo|lo|o|lo|lo|lo|lo|lo|lo|o|lo|o
(4] o o o o
E o800 |o|o|o|o|8|o|lo|o|o|o|3|o|o|o|o|o|o|lo|o|8|lo|o|o|o|o|o|o|o|o|o|o|o|o|D|o|o|D
el Zelelelelelel el elelelel zlelelelelelelelel Delelelelelelelelelelelelelel el e e
clBlo|lololo|vw|o|lSlo|lo|lolc|o|l|loclo|lc|lolc|lo|o|lo|B|lololo|o|o|lvw|v|c|lo|lo|o|lo|o|lo|o|o|lo
M oL oolo|o|~ olFo|e|o ol —o|do|oodoa|ln L oo dh ol——|Clon b o|lolm dm|—|o|lom
~ 5
30 — _ _ o _ L _
= = oM iol < RO s K 0|3 |40
o [ o | i Kk s Ot 3| 80 = | 0|k
wm ol ol | D ) 3 X |= oJ o._o._o._
oJ
X0 i
T olo|l8|lololo|ololo|o|olo|lo|ololo|o|o|o|S|lololo|ololo|o|ololo|ololo|ololo|ololo|o
ElS|o|Ig|o|o|o|o|o|o|o|o|o|o|oo|o|o|o|o|8|o|lo|o|o|o|o|o|o|oo|o|o|o|o|o|o|o|D|D|D
=X - -
I 22 cleleleleleleeleeleleelelel=e ele|elelelelelelelelelelelelelelelel e e
olo|8|lo|lolo|lo|v|olo|lo|lo|lo|lo|o|lolo|lo|lo|Blo|o|lo|v|o|lo|lo|lo|o|lo|v|o|lo|lo|o|o|o|lo|w|o
M 2T | |0~ |0 F D0 oo F oo P~—ooN o a oo~ onlodla oo~ —|o
— I
30 O | — _
2 2|32 |r oF KH | 0 __ R0 | 80 3
3l — || B IS} <10 ~ K o |ol =
B BU RO | RO A0 0 80 | OH 0p) ol | of ol
X0 z
= o o o o
T 2|8 |lolo|ololo|olo|o|8S|lololo|olo|olo|oloo|Slo|olo|ololo|olo|olo|o|e olo|lo|8|o
Hio|gloo|o|o|o|o|o|o|8|o|o|oo|o|o|o|d|o|o|8|o|o|o|o|o|o|o|s|o|o|o|d S|S|o|8|S
o Zelelelelelelelel Aeleleelelelelelee Deleleleleeleleelelele cle|el e
olBlo|lolololo|o|lv|o|8|lo|o|o|lo|lo|o|lo|lo|g|w|S|lo|lo|o|o|lo|o|o|lo|o|o|o|o olo|lo|3lc
M L o6 0| c|c|a|N | QP D C|IAdo|e|d|o—|2|oo ool oo e o d|—|®|o SAR ARG A RS
~ 9] 1
B0 - <10
= = R0 |60 | Tr | of 30 w2y ot
i = - = —n | o0 z
Y| or o o= = | o
b n0 Ar i3 n0 ~0 | K Z0
=

0

nO




Hd(edY) 32 H(Y) Y (eHY) = H(H (MY 32 HU(Y)
=3t 30,000 OlE=(2s) 15,000 ANE= 60,000
=M 150,000 ole=(=23) 90,000 d==a 30,000
ZLt& 30,000 Ol=4& 30,000 PNREES 30,000
=242 30,000 ols2Hes) 60,000 e (& 150,000
g=Kk 60,000 =19N; 30,000 X &= A4 30,000
=3 60,000 20/e 60,000 HE= 60,000
= et 30,000 g sot 15,000 zI1d 30,000
2383 30,000 2EE 30,000 ZlHs 60,000
ZX& 90,000 LB 90,000 st 90,000
OlZs 60,000 FZS(ECH) 60,000 ESIEIES 60,000
o123 15,000 FU=(ZZ00) 30,000 zlele 60,000
OlLtet 60,000 & 0 20,000 Zl = 60,000
olg sl 60,000 q3d 40,000 ESRSRS 60,000
oror=l 75,000 =¥ 30,000 ESRSES 60,000
o= 30,000 SRRl 30,000 SR 150,000
o1&t 75,000 3&= 30,000 ZIEH A 60,000
Olatol 30,000 dgsl 60,000 ESRSDN; 60,000
Ol&fgl 30,000 40l 90,000 = k=PI PSEEl 30,000

Ol&f= () 30,000 %= 30,000 ™= 300,000
ol 20,000 =REDN; 90,000 HAE 60,000
Ol 2 60,000 SRS 60,000 sta=2 15,000
old& 60,000 dg= 20,000 statd| 90,000
Ol=0l 135,000 g 60,000 st= gl 30,000
Ol=g 60,000 3= 60,000 str&l 30,000
Ol=3s 60,000 e 30,000 stE At 30,000
Ols= 60,000 A2 60,000 R g=t 60,000
Ols& 30,000 ZEE 30,000 ss# 60,000
Olg s 60,000 ol 30,000 2 st 60,000
o< 30,000 det= 30,000 2 g 150,000

OlxE(oI &gl 60,000 e 60,000 gs2 30,000
RSB 60,000 TEE 9,000
= 60,000 ZME 60,000
Ol KIA 30,000 L& 90,000
ord3 135,000 TES 150,000
01 &3] 30,000 F8= 60,000
ors= 30,000 = O 60,000
Ols< 60,000 FHe= 30,000
olgttt 60,000 INREDN; 30,000




CARSER=ERS
oﬁ Oy ﬂv, % m w m
| 3 S22 S| @
S |33 S| ®
= 2% 4
) | : oL
_ mo . = wﬁ KO Mu
7| 7| B RO | U0 :
ol Wm o | o e mv_u
0| W Jo | uo xm i ! 7
X | 50 J|w| S P._ H, 5,
5 | =
) |
813 Ok
m.l__.w % (@] (@]
7| 2 S |2 Ak
m|© | & g g 1HE
g/g8/g/8|8 s
S|8]2|8|8
(ep]
w | = |5
R = o] — R
% |F o | Q0 e m
uiogma@mﬁm g
@23 g AEIFIE %
| 1 HE : ok
W | T 0 [ W) 0
ol W o5 | WG
k|3 L

Ak

mlt
ol

A2l S X



